GOES X-ray Flux

8 Nov 2017 (DOY 312)
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c 0018 N ]
£ty .
& B o ]
Sy £ 0016 .
n o i
W g 0014
S B 5 C ]
l!.j-lljt!}!\ — S C ]
A £ 0012
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT) Time (UT)
. ESP 0-7 nm . Fe XIV 21.13 nm (log T=6.27)
e 0.283[ ] t 2.25[0 ]
> - . . > - .
€ 0217 - i . € 1.75F .
o r + ] o L 7
€ 0.150F i - € 1.25F -
S E P PO N K] C ]
£ o083l = ~ et g £ 075t 1
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT) Time (UT)
. Eo-37 nm . Fe XIl 19.51 nm (log T=6.13)
t 2.5E E t 2.25[ ]
> 20F 3 > C .
= 20F E € 1.75F ]
o 1.5E 3 N C ]
(8] E 3 (8] r T
S 10f 3 s PF -
3 E 3 B B ]
£ osE 3 £ o075
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT) Time (UT)
. Fe XX 13.28 nm (log T=6.97) . Fe IX 17.11 nm (log T=5.81)
T 2.25[ ] T 2.25[ ]
> . > .
€ 1.75F ] € 1.75F ]
o N ] o N ]
§ 125f | § 125f .
E r ] S C H
£ 075 £ 075
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT) Time (UT)
. Fe XVIIl 9.39 nm (log T=6.81) . He Il 30.38 nm (log T=4.70)
T 2.25[ ] T 2.25[ ]
> . > .
€ 1.75F ] € 1.75F ]
o B ] o B ]
§ 125f | § 125f .
E r ] S C H
£ 075 £ 075
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT) Time (UT)



Time (UT)

E ESP 0—7 nm
> 0.283F =
E 0217F e =
(0] - -
0 0.150
c = oy oy -
c L M;ﬁ-} e
2 0.083 Fr===tta B auns S
el
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E ESP 17.1 nm
> 0.407F =
E 0.393F + =
$ 0.380 E—— p— }PEW n ; St =
O Rl e =
2 0.367E s e o W
el
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
NE ESP 25.7 nm
> 0.26F =
E 0.24F =
: 0.22% E
s =
2 0.20
e
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
€ ESP 30.4 nm
> 0.625F =
E 0s75F 4 f 3
§ 0.525 ?ﬁ-@—ébﬁr—awaﬁ Wﬁw_
2 0.475
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
\S ESP 36.6 nm
> 0.6F 3
E — +
= 0.4 - § i A
© 0.2 # .ﬁ &
% 0.0 :M.., m_‘ w%— e e & : J kb‘*w L -mn-aﬂ P ﬂ dt * +
g 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
€ MEGS—P 121.6 nm
~
= -
E . —
5 i E
18]
g =
S =
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00



ks Fe XX 13.28 nm (log T=6.97)
> 2.25F =
E 175E =
8 1.25F =
o - -
2 0.75
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 6:
- Time (UT)
E Fe XX 72.16 nm (log T=6.96)
> 1.75x107°F =
E 1.25x1073E i o =
- W 3
S 7.50x1o"§w m =
o -4 —
2 2.50x10™*E
°
e 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Fe XX 56.79 nm (log T=6.96)
> 7.24x107T'EF =
E 657x10™E -
[ - =
0 5.90x107* " -
C — +4+. —
o -4 —
§ 5 4x10-+ Elbibdied
°
e 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Fe XIX 59.22 nm (log T=6.89)
> 5.13x107PE =
E 487x10" g ot =
o 4 e ‘#+A :" + =
O 4.60x107*E =
2 4.33x10™E n : =
2 4.
e 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
ks Fe XVIIl 9.39 nm (log T=6.81)
> 2.25F =
E 175E =
8 1.25F =
o - -]
2 075k
e
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 6:
- Time (UT)
a S XIV 44.57 nm (log T=6.44)
= 10107 T 3
Fhs LA =
E 95x107™ + =
8 9.0x10™F S ]
S 85x107EL e =
2 18:00 22:00 02:00 06:00 10:00 14:00 02:00 06:00
- Time (UT)
E Fe XVI 36.08 nm (log T=6.43)
= 0.0070 =
E 0.0065 — =
oy 3 -
$ 0.0060 m =
o -
2 0.0055 ¥,
°
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Fe XVI 33.54 nm (log T=6.43)
> 0.018 5 namta E
E 0.016F 3
i -
8 00142t =
o - -
2 0.012E
©
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



Irradiance (mW/m?)

Irradiance (mW/m?)

Irradiance (mW/m?)

ks Fe XV 28.42 nm (log T=6.30)
> 2.25F =
= 4 c 3
E 175E =
6 125F =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
Si XIl 49.94 nm (log T=6.29)
0.0060 F 3
o.oossw =
— * * + + + =
0.0056 | Py =
- Ead =
0.0054 E + -
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
Si Xl 52.10 nm (log T=6.28)
0.0017F R 3
[+ + —
0.0015F m =
0.0014E 3
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
ks Fe XIV 21.13 nm (log T=6.27)
> 2.25F =
= 4 c 3
E 175E =
S 1255 =
2 0.75E -
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
ks Fe Xl 20.20 nm (log T=6.19)
> 2.25F =
= 4 c 3
E 175E =
S 1255 =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Fe XIl 19.51 nm (log T=6.13)
> 2.25F =
E 175E =
S 1255 =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
Mg X 60.98 nm (log T=6.10)
02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
ks Fe XI 18.04 nm (log T=6.07)
> 2.25F =
= 4 c 3
E 175E =
S 1255 =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



Irradiance (mW/m?)

Mg X 62.49 nm (log T=6.05)

5.133x1073 =
5.067x107* =
5.000x107% =
4.933x107°E =
18:00 22:00 02:00 06:00 10:00 14:00 02:00 06:00
Time (UT)
E Mg IX 36.81 nm (log T=5.99)
> 0.044F =
E o043ty =
S 0.042 PAiRIAGS =
R ON PR = il =
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 02:00 06:00
- Time (UT)
ks Fe X 17.72 nm (log T=5.99)
> 2.25F =
E 175E =
S 1255 =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
€ Ne VIl 77.04 nm (log T=5.81)
> 0.00990F =
E 0.00964 3
8 0.00937 =
-2 0.00910 =
2 18:00 22:00 02:00 06:00 10:00 14:00 02:00 06:00
- Time (UT)
€ Fe IX 17.11 nm (log T=5.81)
> 2.25F =
E 175E =
S 1255 =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Ne VIl 46.52 nm (log T=5.71)
= 3
E =
[0} -
Q
= -
S 3
°
2 02:00 06:00 10:00 14:00 02:00 06:00
- Time (UT)
€ Fe VIl 13.12 nm (log T=5.57)
> 2.25F =
E 175E =
S 1255 =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
e O VI 103.19 nm (log T=5.47)
> 0.0453F =
E 0.0427F =
2 0.0373E il =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



OV 62.97 nm (log T=5.37)

Time (UT)

€
> 0.04283F =
E 004217 F—— 3
- et -
g o.omsoM =
— P o [ -
2 0.04083E "+ 3
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
“E O IV 79.02 nm (log T=5.19)
= -
E =
[} =
Q
c =
S 3
°
2 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E O IV 55.44 nm (log T=5.19)
= -
E =
[} =
Q
c =
S 3
°
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E O Il 59.96 nm (log T=4.92)
> 4.05x107°F F7 T 3
E 3.95x10"”m E
o sE* ¥ LR 3
o 3.85x107°F ¥ p =
2 3.75x107°E =
e 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E O Il 52.58 nm (log T=4.92)
> 2.267x107°F =
E 2.201x107F =
S 2.134x107F s =
2 2.067x107° B3 : =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
e C Il 97.70 nm (log T=4.84)
> 0.M7E =
E o1 —g= R =
- 4 ot £, -
$ 0.107 :m o, =
£ 0.102E =
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
k= He Il 25.63 nm (log T=4.75)
> 2.25F =
E 175 =
S 1255 =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
k= He Il 30.38 nm (log T=4.70)
> 2.25F =
E 175 =
S 1255 =
2 0.75E =
2 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00



Irradiance (mW/m?)

Irradiance (mW/m?)

O Il 83.55 nm (log T=4.52)

€
L —
% _; I =
o e 3
g ¥ P —
S 3
©
2 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
O Il 71.85 nm (log T=4.48)
2.75x107°F =
E 1 2 3
2.25x1073 F——+ : =
1.75x10'3m m -
1.25x107°E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
€ He | 58.43 nm (log T=4.16)
> 0.0360 F .7 =
E 0.0355 Em = =
$ 0.0350F % =
2 0.0345E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
k= H 1 102.57 nm (log T=3.84)
> 0.0572F =
E 00559 F— s =
. L oy L —
$ 0.0546 :ﬁ%* o l ey =
2 0.0532 B et .7 IR =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E H197.25 nm (log T=3.84)
= 3
E =
[0} -
Q
c =
S 3
°
2 02:00 06:00 10:00 14:00 02:00 06:00
- Time (UT)
E H 1 94.97 nm (log T=3.84)
E s E
o s =
Q %
C +3 I
S A 3
°
2 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
He | 53.70 nm (log T=3.84)
4.427x107% =
4.360%x107° =
+ -
4.293x107? =
4.227x107°E . : -
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



Irradiance (mW/m?)  Irradiance (mW/m?) Irradiance (mW/m?)  Irradiance (mW/m?) Irradiance (mW/m?) Irradiance (mW/m?)

Irradiance (mW/m?)

AlA 94 Channel

225F ]
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AIA 131 Channel
225F ]
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AIA 171 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AlIA 193 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AIA 211 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AlA 304 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
AlIA 335 Channel
2.25F 3
1.75F =
1.25F =
0.75E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00

Time (UT)



Irradiance (mW/m?)  Irradiance (mW/m?) Irradiance (mW/m?)

Irradiance (mW/m?)

MEGS ESP 17.1 nm

2.25F =
1.75F -
1.25F -
0.75E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
MEGS ESP 25.7 nm
2.25F =
1.75F =
1.25F -
0.75E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
MEGS ESP 30.4 nm
2.25F =
1.75F =
1.25F -
0.75E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
MEGS ESP 36.6 nm
2.25F =
1.75F =
1.25F -
0.75E =
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



Irradiance (mW/m?) Irradiance (mW/m?) Irradiance (mW/m?®) Irradiance (mW/m?)

Irradiance (mW/m?)

x
o)
S

MEGS—A1
1.25F -
0.75F -
0.25F -
I e — —_
-0.25E -
18:00 22:00 10:00 14:00 6:
Time (UT)
MEGS—-A2
0.75F -
0.25F -
I e — —_
-0.25E -
18:00 22:00 10:00 14:00 6:
Time (UT)
MEGS-B Short
0.357F i3 =
0.343 = L =
0.330 m =
0.317E =
18:00 22:00 10:00 14:00 6:
Time (UT)
MEGS—-B Middle
0.162F F. . & =
0.158 W =
0.152F -
0.147E =
18:00 22:00 10:00 14:00
Time (UT)
MEGS—-B Long
18:00 22:00 10:00 14:00 6:

Time (UT)



